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Note: The question paper is in three sections. The candidate has to answer 5
questions each from section | and section Il. Each question from Sections | & Il
carries 10 marks. Also, the candidate has to compulsorily answer all the 4
guestions from section Il and each question carries 12.5 marks.

The question paper is set in English and translated /nto Telugu. The English version

Is considered as the authentic version for valuation purpose.
Enough space is available in the answer sheet for writing all answers. There is no
provision for additional answer sheets.

RSO, 2F) DPdw QWD PAIBVT &5) 4. eoafJg gt | dvodd 5 obaty eritdw Il
Avocd 5 S0 dwedo 10 H#) 0D DAPEIe Fatrd. eridven | & Il D 08 9¥) 0 10
Q) ev Gotraw. A Y eoafJg, et Il 5% 4 28) 0D SN0 DaATEeI7eD aratrd
&I 11l €D 9B O#) € 12.5 Sty ew Goera.

OF) DS esof e’ Satreh Saved, Sevid rRSE S Sabed SO DTS
DHBVD B0R) SANVIDD, eso(f PRV L) DB FArEEAVIT SE DO
DBILS Deades’ @,Oaz 2TV FPOXVAD SAD éwaiu SO 9GO DTS DGad
Py Edfo Feb.

Section — |
2t —|

1(a) A, Band C enter into a partnership business with investments in the ratio

W|N
W

.3, 4

. 5
After four months A increases his share by 50% while B withdraws ;rd of  his
share. If the year end profit is Rs. 4,09,000, then find the share of C in the profit ?

OR

(b) A person Psells an item at Rs.100 less than its marked price and receives 10%  of
his selling price as his commission. Another person Q sells the same item  at
Rs. 200 less than the marked price and receives 20% of his  selling price as his

commission. If they get the same commission, then find the list price of the  item.
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Two persons A and B agree to finish a piece of work in 5 days for Rs.28,800.
But A alone can complete the work in 10 days while, B alone can do it in 12 days.
By taking help from another person C they finished the job on time. What is
the share of C in the amount of Rs 28,8007
OR
For how many integers of x does a triangle with side lengths 10, 24 and x have all of its

angles acute ?
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Six distinct integers are picked at random from {1, 2, 3,..,10}. What is the
probability that, among these selected, the second smallest is 3 ?

OR
A box contains 11 balls numbered 1, 2, 3, ..., 11. If six balls are drawn simultaneously

at random, what is the probability that the sum of the numbers on the balls

drawn is odd ?
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The population of a country in the year 2000 was estimated as 641 million and in
2010 the estimate was 705 million. Assume that the population grows linearly
with the time. Then
) What would be the estimate of population by 2020 ?
(i)  What was the population estimate in 1990 ?

OR
The population of a country was estimated to be 1.22 million in the year 1989 and to be
growing at the rate 3.4% annually. Then
0] If t =0 denotes 1989, find formula for the population at time .
(i)  When will the population gets doubled ?
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In a certain population the ratio of number of women to the number of menis 11:10.
If the average age of the women is 34 years and the average age of the men is
32 years, then find the average age of the population ?

OR
When a student P walks to school, he averages 90 steps per minute, each of his
steps being 75cm long. It takes him 16 minutes to get to school. Another student
Q going to the same school by the same route, averages 100 steps per minutes,
but his steps are only 60cm long. How long it take Q to get to school ?

a8 aTrS Q, VOO Dope G 1110 o D Sabioy 34
RVoDS\T°D, YL DI SOy 32 ROOBNTLD WO, & 2TeT Vi
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Section — |l
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The following Pie diagram shows the monthly expenditure of a family towards heads:
Food (F), Education (E), House Rent (R), Savings (S) and Others (M).

Answer the following questions, using the above diagram.



0] What percent of the monthly income is spent on Education ?
(i)  Which two heads consume 40% of the income ?

(i) Which two heads consume 45% of the income ?

(iv)  What percent of the monthly income is kept for Savings ?
(v)  What percent of monthly income is spent on Food ?

OR

(b) The production (in lakhs of units) of three types of products A, B and C during
the years 2011 through 2015 by a company is tabulated below. Assume that the
costs of producing one unit of each of the products A, B and C are respectively Rs.3, 5

and 4.
2011 2012 2013 2014 2015
A 50 35 60 50 70
B 45 50 45 55 80
C 35 60 55 60 50

Using the above table answer the following questions.
(i) During the five years, on which product the maximum amount was spent ?
(i) What was the total production cost of the product B during the last three years ?

(i) How much amount was spent on production of A and B during the years 2011
and 2012 ?
(iv) What percent of total units produced constitute the units A produced ?

(v) What parent of the total cost of production was spent on production of B in all
the five years put together ?
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7 (a) Car Production in India

INDIA CAR PRODUCTION
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Quarterly car production in India during August 2015 to July 2016 is shown in the
above bar graph. Using this, answer the following questions.

0] During which month and year was the production lowest ?
(i) During which months and years the production levels are equal ?
(i) By what approximate percent the production increased in March 2016 over
February 2016 ?
(iv)  What is the approximate percentage growth rate in the production in July 2016
compared to June 2016 ?
(v)  Over which period production growth rate was on the increase ?

OR



7(b) Annual GDP Growth Rate

INDIA GDP ANNUAL GROWTH RATE
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India's GDP growth annual rate for the years July 2013 through July 2016 is
shown in the above graph. Using this graph answer the following questions:

) During which period the country has witnessed the lowest GDP annual
growth rate ?

(i)  Over these four years which period recorded highest GDP growth rate ?

(iii)  During which periods did the GDP crossed 7.5 ?

(iv)  Which period witnessed sharp downfall in GDP annual growth rate ?

(v)  During which periods the GDP was below 7 ?
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8 (a) Each of the following sequences follows a definite pattern. Fill in the blanks

(b)

8 (9)

complete the sequence without breaking the pattern.

to

()  Nige, K121, Hoea,

@iy L, P , B, H

(i) If axb=2(a+b) and a®b=a’b+ab® then
20B®5)=___

(iv) BY, EV, HS, KP,

(v) 3, 10, 21, 36, 55,

OR

0] In a certain code APPLE is coded as ZKKOV. Then what is the code
word for CODE in the same code ?

(i)  If BUTTER is coded as 123345, then what is the code word for TUBE ?

(i) If, in a code, AXIS is coded as 02250920 then what is the code word for
AGENT ?

(iv)  If, in a code, WLSFD is the code word for ALERT, then which word is
coded as LOJTSE ?

(v)  In a certain code, TEACHER is coded as GVZXSVI. In the same code,
what is the code word for STUDENT ?

8068 AoHWED DA 63 208 POVBDD EHPY)  FBRY 08 & E3rd8  Horlo

gortorr PO PO

()  Nige, K121, Hoea,

@iy L, P , B, H

(i) Ifaxb=>(a+b) and a® b= a’b+ab® eond
20B®5)=___

(iv) BY, EV, HS, KP,

(v) 3, 10, 21, 36, 55,
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doo

@) () 28 D D0e@0S” APPLE &0 ZKKOV 1 grd6. 05 008 H027eS”

CODE c3wg), & 0cso 98 ?

(i)  BUTTER & 123345 > &§& 8%, TUBE & && 96 ?

(i) 28 && &°, AXIS &0 02250920 r && 3%, AGENT & £& Héso 28 ?

(iv) a8 && &S°, WLSFD 038 ALERT &£ £& evond, O Heso LOITSE e
£& Sovedse ?

(V) 28 && &S°, TEACHER & GVZXSVI e §& Sabherdod. of €& &°
STUDENT & && D¢ 98 ?

9 (a) Each of the following sequences follow a definite pattern. Fill in the blanks  without
breaking the sequence.

D (=Dxe(1), (2)x3(10), (5)x6(1p),
(i) 2(4)8, 4(2v10)10, , 6(3V8)12,
(iii)

vy X V.S O J

(v) Vos, Uge, Sog, ___, My, Hy.

11



M O In a certain code WHALE is coded as 2308011205. In the same code

language what is the code word HIPPO ?

(i)  If CORNER is coded as HTWSJW then what is the code word for
LINES ?

(i) If the RAM is coded as IZN then which word is coded as GLOO ?

(iv)  If LIGHT is coded as 34567 then which word is coded as 74567 ?

(v)  If the words VAST, COST are coded as TO119V, T1519C respectively
then which word is coded as E1518M ?

9 (Q) 806 DaDeEDH DA 363 PONEDD Ay FBLY 0B e gIIS FHollo Lerigdor
2P0 RPOoBE.
) (=1)xe(1), (2)x3(10), (5)x6(1p),

(i) 2(4)8, 4(2v10)10, , 6(3V8)12,
(iii)

) X V.S 0 J
(V) Vos, Uge, Sog, ___, My, Hy.

Sor
@) () ws&&S® WHALE &0 2308011205 e €& 326, 8 £& &° HIPPO
g, €& Do D6 ?
(i) CORNER & HTWSIW re &€& 8%, LINES £ && 0¢5o 96 ?
(i)  RAM e 560 IZN m & 3%, O Deso GLOO rr & Bohciood ?
(iv) LIGHT &0 34567 m £& 3%, 9 960 74567 e €& Sohdt &8 ?
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(V)  VAST, COST Hzwen Sdodme TO119V, T1519C e €& 3%, Q Heso
E1518M > £& SoHER008 ?

10 (a) A survey conducted, on 100 students in a college on their playing habits,
revealed the following information:
41 students play Cricket (C),

35 play Football (F),

24 play Hockey (H),

10 play both Cand F,

8 play both Fand H,

9 play both Hand C

and 18 play exactly any two of the three games.
) How many students play all the three games ?

(i) How many play more of these games ?
OR

(b) Readership survey conducted on 1000 persons with regard to English dailies /,
and T is given below:
515 persons read /,

345 read D,

310 read T,

55 read /and D
50 read Dand T
70 read Tand /

and 10 read all the three, Can you find any fault with the survey ? If so, why ?

13
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35  Hod S erd (F) es@esco.
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10 2008 C 200050 F SotoBD es@d

8 008 F 00030 H 8oloBd es@cesdd

9 008 H 0030 C 80doBd es@esed
000500 BrGo3S” PAyBore DB SoCo3D es@aedhd 18.
() S0rEoBd e@oeE Jottd ?
() D 9D e8¢ T*Bostd ?
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(D) esoff BIDQE [, D, TR0 dodhadod BEOYBOT®) 6R) ForeTe st M
1000 306 2025 DTS’ D0ITLD oSO T0N0 !
515 2008 | & ST,
345 2008 D > 3G,
310 2008 T &0 SEITE,
55 o0& / DB D R WBOPT,
50 08 D 06050 T O BEDHTD,
70 0o® T SO0 / O BELHTW,
00030 10 008 SOTE 083D t5E0:9)TED.
& DB AEROT ST 9INoDoTr ? WP WONIS JotdL ?

14

RoeroHow)



Section — Il
2t Il

Read each of the four passages given below and answer all the five questions at the end of
each passage.

€00 4 PECRBVOV BOD, VA PECEBD DOG VI DA PI) VD SDNIOM® 22772
SPODOG.

11. Food Security in India

India is one among the few countries in the world having Government held stocks of
food grains for meeting the requirements of natural calamities, ensuring price stabilization in
case of crop failures and for providing food grains under Public Distribution System (PDS).
Since Independence India has travelled a long way towards the crucial aspect of food security
from being an importer of food grains to one of being self-sufficient in its requirement of food
grains. While its food grains stock position though looks satisfactory with sufficient buffer stock,
the paradoxical situation is that according to the Global Hunger Index 2015, India ranks 80"
position in a group of 117 developing countries. This apart India’s hunger index score for2015
was 29.0 and the proportion of undernourished in its population was 15.2% (i.e. one in every 7
person during 2010-14) which indicate the gravity of a serious situation with which India is
found to be sailing. Therefore, food security in India has to be seen in a broader context
covering the various aspects like hunger, malnutrition, absolute poverty, addressing
inefficiencies in the delivery channel, proper identification of beneficiaries so as to improve the
overall living standards of the people and thereby getting rid of absolute poverty from the
country. Thus, food security in short implies “Access of food grains by all people at all times to
sufficient quantities of food to lead an active and healthy life”.

Questions:

Explain the food based safety nets to tackle the food security problems in India.
Write a note on National Food Security Act 2013.

Mention the flaws in PDS of India and suggest suitable remedial measures.
Discuss the areas of food security concerns India is likely to face in future.

oA wN e

Food Security as had been well said should be “Never give a poor person a fish to eat
but rather teach him how to fish”.- Comment

15
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0650 117 0BG Bodod) ST DAFT0S’ 880D F Do &) DLGID O,
ROED &oB. R0BcD =8, Logryes (wsd) Ards, 2015 S 68 6 29 ook
2ereS® 15.2% (w5 2010-14 &° 08 706’ 2,80) UFsTD & e . 28 &6 3%
AR D) Do S°AGF HOY B AVHYAHB APIRY 0d 0BG 8D, VTG SDIW,
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Qv ew:

1. a6 B%0S° esixhs EATalx) ‘c’oa)‘{osé) QAL WIVERD G HRY DALY
0008) DHBotIol?

2. 3D 88 HGS S0, 2013 DD DadSes Frood?

3. 03 B8 L@ Hoded 3B (D & ) S’ S*Hawed o TBI Fufoterd
S SO BeDoC?

4. P S OB BTIE 56 FES DREH0S” BoBUVH BN (10F EGiwe (100D
éO‘)oc&oC’.?

5. ST BOIIND Do BB PSS D DRBoIT Gotrwot] ‘28 DATIE AIEIE BDHXD
Q3 60D SIS S DB JE — Sefe§dotdol?

16



12. Sustainable Development

The need of the hour is not just development, but eco-friendly development, that is,
development endowed without the destruction of environment and over exploitation of its
bountiful gifts bestowed to mankind. The 11" Five Year Plan has emphasized and advocated a
development process that is environmentally sustainable. Since our natural resources such as
water, land, and minerals are limited, their per Capita availability is actually diminishing
because of rising population and also because of irrational exploitation of these resources.
Therefore, a strategy that could not only preserve and maintain natural resources but also
provide for an equitable access to those who do not have access to them was adopted with a
firm belief that until and unless environment protection is brought to the centre stage of our
policy formulation the desired result could not be achieved. Otherwise it was felt that what is
perceived to be development may actually lead to deterioration in the very quality of life.

Questions:

What do you understand by Sustainable Development? Explain its importance.
Examine the causes and consequences of environmental degradation.

Describe the methods that promote conservation and maintaining of natural resources
for common good.

Discuss the Government policy towards protection of environment.

Environment protection is a luxury for developing economies — Discuss.

12. 20y 6 wDB5G

DS Bmod’, Bdvo WOHHG ROV VOYBGER TIWD WP WIS e
BBVBB. WP, DTHEET) T30 BALLE® SBALL JHrdD 25738 23@6508 DI AoHED
BTVBER DINODAT EDE Sodedore 2000DBG ST 115 Dots B HFPPS, DTGB
DB R0 SRODBDG VEADR DG odod O IS, é@bsﬁo&oébdo, do ok
PIAVL Dot DED DI DOG DOITE0S’ Gottdn BY BIEE DEHDLOL DD
200050 DILEPELTrS DAY (DEDWo B & JHWO SVV0 VD YIS BeH SodY A
900B, I dréée)béeS“ DOgO6E HDOGLED Sof DotoPMT BoNLDOE® Vo VLD
OII) FPOoSTI0 B ek DI EINS, PEA SDHEV DVoBEE SO T 0 e 5o
SDOERD WokreTnd” S 08, & BV VATV WoBod PRI DE0oSto 2000B.
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13. Gender Discrimination

Gender discrimination is a universal phenomenon and it is attributed to several
factors like economic, social, political and cultural taboos. Though the policy-framers,
Government, civil society , social reformers, NGOs and feminist organizations are no doubt
putting enormous effort to minimize gender discrimination but still it is continuing to be
prevalent in both the developed and developing countries. However, the magnitude and
degree of such gender discrimination keep varying from country to country. The gender
discrimination in the Indian context is quite noticeable by virtue of the declining trend in female
sex ratio, literacy level, employment avenues, income inequalities, wage differentials and
property rights, etc. This is one of the biggest challenges facing India and unless it is
addressed on war-footing basis it will have a cascading negative impact on the very growth and
development path being pursued by India since it has been proved universally beyond doubt
that women are equal partners in the development process of any nation.

Questions:

1. Explain the causes for the declining female sex-ratio in India and suggest suitable
remedial measures.

2. Comment on the issue of “Missing women”.

3. Is section 498A of IPC really a panacea for redressing women'’s problems against

domestic violence? Discuss.
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4. Do you think empowerment of women can minimize gender discrimination? Substantiate
your answer.
5. Examine the policies initiated by the Government for upliftment of women.

13. Dot DDLS
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ﬁ)wé‘)‘oéodeb 80 0SErS Ao ErdEGen, PELSHW, DG DATAD, DO Qo) gew,
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14. Health Care System

The general health care standard in India is quite low compared to many other countries
around the globe. The basic cause for the poor health status of the large chunk of its population
in India is its wide spread poverty. The Government of India has focused its attention on this
vital aspect from time to time and had come out with various programmes and policies aimed

at achieving an acceptable standard of good health amongst the general population of the
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country. To name a few ,The National Health Policy 2002, The Common Minimum Programme,
National Health Mission, Pradhan Mantri Swasthya Surksha Yojana (PMSSY), Swachh
Bharat Mission, Pulse Polio Programme, National Aids Programme etc. Yet, there is no
denying of the fact that the progress in improving health outcomes in the overall quality of
health care being extended to its vast population over the years is apparent though at a
slow pace. But its wide inter - state, male-female and rural- urban disparities in outcomes and
impact still continue to persist. Therefore, as a result India continues to face an extraordinarily
high disease burden which saps the productivity of not only the present Indian working
population and their contribution to its economic growth and development but also can have
a cascading effect on the future generation as well.

Questions:

1. Affordability of health care is a serious problem for the vast majority of Indian population-
What measures according to you should be taken to redress this problem?

2. Comment on Swachh Bharat Mission and mention the initiatives taken by Government in
the implementation of the programme.

3. Suggest suitable measures to strengthen the governance of health care system in India.

4. Do you suggest levy of user fee in the Andhra Pradesh Public Health Sector as is being
levied in other states of India? - Justify.

5. Do you concur with the opinion expressed in ‘Lancet’ study 2015, that poor coordination
between the central and state Governments as one of the main constraints as to why

universal healthcare is not assured in India? Justify your answer.
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